
Folgen und Reihen 2 (Lösungen) Algebra 10. Klasse

(1) a) a1 = 1
a2 = 5
a3 = 9
a4 = 13
a5 = 17

an = 4n−3

b) a1 = −8
a2 = −5
a3 = −2
a4 = 1
a5 = 4

an = 3n−11

(2) a) a1 =
1
3

a2 = −
1
6

a3 = −2
3

a4 = −
7
6

a5 = −20
12

an =−
n
2
+

5
6

b) a1 = 3.8
a2 = 1.1
a3 = −1.6
a4 = −4.3
a5 = −7

an =−2.7n+6.5

(3) a) a1 = 3
a2 = −6
a3 = 12
a4 = −24
a5 = 48

an = 3⋅(−2)n−1

b) a1 = 243
a2 = 81
a3 = 27
a4 = 9
a5 = 3

an = 243⋅(1
3 )

n−1

(4) a) a1 = 10

a2 = 5 √2
a3 = 5

a4 = √2
a5 = 1

an = 10⋅(1

√2 )
n−1

b) a1 =
1
8

a2 =
8

27

a3 = 27
64

a4 =
64
125

a5 = 125
216

an = 10⋅( n
n+1)

3

(5) a) a1 =
8
3

a2 =
2
1

a3 = 3
2

a4 =
9
8

a5 = 27
32

an =
8
3
⋅(3

4)
n−1

b) a1 =
1
2

a2 =
2
6

a3 = 4
18

a4 =
8
54

a5 = 16
162

an =
1
2
⋅(2

3)
n−1

(6) 25.6mm


